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According to Compendium of Materia Medica (&35 4% 8), Lonicera Confusa (&4 3¢, a kind of]
medicinal herb) has a good effect on flu. Now, there is an outbreak of bird flu (such as H5N1) in
China; people expect that there will also be an outbreak in Taiwan next several wecks. What will
happen to the equilibrium price and quantity in the market for Lonicera Confusa in this week?

a. The equilibrium price and quantity will increase.

b.  The equilibrium quantity will decrease but the equilibrium price will increase.

c¢.  The equilibrium quantity will increase but the equilibrium price will be uncertain.

d.  The equilibrium price will increase but the equilibrium quantity will be uncertain.

Consider the market of luxury apartments (4 %) in Taipei. To stop speculation (4% 4% %> 44), the
government imposes a 40% luxury tax (481%#2) in the market, which is collected from the sellers.
The price elasticity of demand is not cqually to zero. What will happen to the market of luxury
apartments in Taiwan?

a.  The equilibrium price will decrease but the equilibrium quantity will be uncertain.

b.  The equilibrium price will increase but the equilibrium quantity will be uncertain.

c.  The equilibrium price will decrease but the equilibrium quantity will increase.

d.  The equilibrium price will increase but the equilibrium quantity will decrease.

Peter’s [actory produces a toxic waste by-product. If Peter dumps it in the river, he causes damage to
John, a fisherman. Peter can install a filter, in which case John will suffer no damage. The following
table shows their payoffs in two scenarios. Which statement is irue below?

a. If the government prohibits Peter from polluting the river, it will be socially optimal.

b. If the river is John’s property, he must stop Peter from polluting the river to maximize his payoff.
c. If John has the right to keep the river clean, Peter will choose to compensate John and keep

polluting the river.
d. If Peter has the right to pollute, he will not to pollute the river because of John’s compensation

(1 2).
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Pollution . No pollution
Peter US$ 2000/day US$ 1500/day
John US$ 200/day US$ 300/day
14. For the motorcycle factory whose marginal, average variable, and average total cost curve in the short
run (in a month) are shown in the diagram below, how much profit will this producer earn if the price
of a motorcycle is US$ 1,500?
a. US$ 35,000
b. US$ 65,000
c. US$ 125,000
d. US$ 750,000
15. Refer to problem 14. If the price of a motorcycle is US$ 1,250, in the short run, what is the possible
number of motorcycle produced by this factory for profit-maximization?
a. 500
b. 400
c. 300
d 0
US $/motorcycle MC
ATC
AvVC
1500
1250
1200
1000
number / month
| 300 500
16. COMAC and Embraer are considering entering the market for narrow-body jets. The table below -
represents the strategies and corresponding payoffs of the two manufacturers in different scenarios; in
each cell containing two numbers, the left number represents the payoff earned by COMAC, while
the right one represents the payoff of Embraer. If COMAC moves first, what is the sub-game perfect
equilibrium (SPE: the equilibrium you get by backward induction in an extensive form game) in this
game?
a. Embraer enters and COMAC does not enter.
b. Embraer does not enter and COMAC enters.
c. Embraer enters and COMAC enters.
d. Embraer does not enter and COMAC does not entet.
Embraer
Enter No Enter
Enter -1,-2 2,0
COMAC
_ No Enter 0,1 0,0
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